PG301C Installation Instructions

1. Product Confirmation
	PG301C board 
	M3 screw 

	
[image: image1.wmf]12V

5V

A1

B1

Z1

A2

B2

A1O

B1O

Z1O

A1

B1

Z1

A2

B2

DCM


	
[image: image2.wmf]


2. Component Name

[image: image3.emf]Rear view

   

(a)

(a)

(a)

(a)

         

(a)

(a)

 

(c)

(d)

 

(e)

  ABZA2B2AOBO+12+5DCMABZA2B2AOBOZOZO 

(e)

 

12V

5V

A1

B1

Z1

A2

B2

A1O

B1O

Z1O

A1

B1

Z1

A2

B2

DCM

  12V5VA1B1Z1A2B2A1OB1OZ1OA1B1Z1A2B2DCM

(b)

Terminal Front view


	No.
	Name
	Instructions

	a
	Mounting hole
	Use M3 screw to install the PG301C board to the inverter

	b
	Terminal
	Connect wiring for customer

	c
	Connector
	Connect to the inverter

	d
	Switch


	S stands for standard non-uniwire mode encoder, L stands for uniwire mode encoder

	e
	Plastic handle
	Remove PG301C board


3. Terminal Description

	Terminal
	Terminal Symbols 
	Function instruction
	Terminal specification

	Input
	A1、B1、Z1
	The input of the encoder signal supports open collector, voltage, line drive and push-pull input type.
	Maximum frequency: 500KP/Sec

	
	EQ \* jc0 \* "Font:Times New Roman" \* hps10 \o(\s\up 9(——),A1)、EQ \* jc0 \* "Font:Times New Roman" \* hps10 \o(\s\up 9(——),B1)、EQ \* jc0 \* "Font:Times New Roman" \* hps10 \o(\s\up 9(——),Z1)
	
	

	
	A2、B2
	The input of pulse signal connects to the upper controller and supports open collector, voltage, line drive and push-pull input type.
	Maximum frequency: 500KP/Sec

	
	EQ \* jc0 \* "Font:Times New Roman" \* hps10 \o(\s\up 9(——),A2)、EQ \* jc0 \* "Font:Times New Roman" \* hps10 \o(\s\up 9(——),B2)
	
	

	Output
	A1O
	The open collector dividing frequency output is 1~255 times dividing frequency. The maximum output current is 50mA.
	Maximum frequency: 500KP/Sec, 

Maximum current: 50mA
It can switch pull-up resistors under different voltages.

	
	B1O
	
	

	
	Z1O
	
	

	
	DCM
	
	

	Power
	12V
	12V Power
	Voltage ±5%

Current 200mA MAX

	
	5V
	5V Power
	

	
	DCM
	Power grounding
	


4. Wiring Schematic Diagram

[image: image4.wmf]
5. Precautions

· The shielded wire should be used to prevent interference. Do not line up in parallel when the voltage is 200V or above.

· Recommended wiring size：0.20~1.25mm2 (AWG24~AWG16).
· Length
	Encoder output type
	Maximum Length
	Wiring Specification

	voltage
	50m
	1.25 mm2(AWG16 and above)

	open collector
	50m
	

	line drive
	300m
	1.25 mm2(AWG16 and above)

	compensation
	70m
	


· If the dividing frequency signal is connected to the user power, the voltage should be lower than 24V in series with current-limiting resistance(refer to the recommended specification in the following table), otherwise PG301C board will be damaged.
	5V
	Recommended pull-up resistor: 330~510Ω，1/2W以上

	12V
	Recommended pull-up resistor: 510~1.35kΩ，1/2W以上

	24V
	Recommended pull-up resistor: 1.8k~3.3kΩ，1/2W以上


· Dividing frequency coefficient is determined by dividing frequency parameter P.357, and the setting range is 0~255. The relationship is as follows: 

	P.357
	Dividing frequency coefficient

	0
	1

	1
	2

	……
	……

	n
	n+1

	……
	……

	255
	256


6. Applying Wiring

6.1 Wiring sketch map of the differential output          6.2 Wiring sketch map of the open collector output

[image: image14]encoder                                          encoder
[image: image15]
  6.3 Wiring sketch map of the push-pull output          6.4 Wiring sketch map of the voltage output
encoder                                         encoder

[image: image16]   
      
[image: image5.wmf]Using the 

shielded wire

VCC

VCC

VCC

DCM

B

1

3

+5V

6

5

4

1

3

+5V

6

5

4

Z

4

5

6

3

1

+5V

Z1

Z1

12V

5V

The voltage 

output encoder

A

B1

B1

A1

A1

0V

VCC

PG XX

  
6.5 The open collector dividing frequency output connection diagram   PG301C


[image: image6.wmf]
7. Installation Instructions

7.1 SA3 installation

Step1: As the Figure 1 shows, please insert PG301C board into the control board SLOT 2, neither SLOT 1 nor SLOT 3.

Step2: Please lock the two M3 screws with screwdriver according to the torque of 4-6kgf.cm and the direction showed in Figure 2.

Note: When removing PG301C board, please first remove the right and left M3 screws, and then lift the plastic handle by hand.

[image: image7.wmf]        
[image: image8.wmf]
Figure 1                                          Figure 2

7.2 SE3 Installation 
Step 1：Turn off the power.

Step 2：Open the top coverof the inverter.

Step 3：Use the front rear as support and slide (a) in by pressing down as figure 1 shown.


[image: image9.wmf](a)

(c)

(b)

FIG. 1


Figure 1

Note: (a)-Optional Card Housing; (b)-Hook, (c)-Slot

Step 4: Line up the connector (c) and (d), and press down the PG301C expansion card to the right position.


[image: image10.wmf](b)

(c)

(d)

(a)

(e)


Figure 2

（a）(e)-Supporter, (b)-Plastic Handle, (c)-Male connector, (d)-Female connector

Step 5: Tighten two M3 screws with 4-6kgf.cm torque on the card. Install the cover after wiring. 
[image: image17.wmf]Using the 

shielded wire

4

5

6

+5V

3

1

4

5

6

+5V

3

1

Z+

Z-

4

5

6

3

1

+5V

Z1

Z1

12V

5V

The differential 

output encoder

B+

A-

B-

A+

DCM

B1

B1

A1

A1

0V

VCC

PG XX

[image: image18.wmf]Using the 

shielded wire

DCM

B

1

3

+5V

6

5

4

1

3

+5V

6

5

4

Z

4

5

6

3

1

+5V

Z1

Z1

12V

5V

The open collector 

output encoder

A

B1

B1

A1

A1

0V

VCC

PG XX

 EMBED AutoCAD.Drawing.16 
[image: image11.wmf]图三


            [image: image12.png]@snmim
SE3 SERIES

-





Figure 3                             Figure 4
8. Others

(To improve our products, the parameters and contents may be modified, please contact the agent or refer to Shihlin websites

(http://automation.seec.com.tw/) to download the latest version.
[image: image13.png]



� EMBED AutoCAD.Drawing.16 \* MERGEFORMAT ���





� EMBED AutoCAD.Drawing.16 \* MERGEFORMAT ���





� EMBED AutoCAD.Drawing.16 \* MERGEFORMAT ���





Need Cutout this area for installating the cover








PAGE  
4

[image: image19.wmf]Using the 

shielded wire

VCC

VCC

VCC

DCM

B

1

3

+5V

6

5

4

1

3

+5V

6

5

4

Z

4

5

6

3

1

+5V

Z1

Z1

12V

5V

The push-pull 

output encoder

A

B1

B1

A1

A1

0V

VCC

PG XX

_1234567893.dwg

_1234567898.dwg

_1234567900.dwg

_1234567903.dwg

_1671347598.dwg
06207


_1234567901.dwg
1


_1234567899.dwg

_1234567895.dwg

_1234567897.dwg

_1234567896.dwg

_1234567894.dwg

_1234567891.dwg

_1234567892.vsd
Rear view


(a)


(a)


(a)


(a)


(a)


(a)


(c)


(d)


(e)


(e)



_1234567890.dwg

